
Spiel 1 Spiel 2 Gesamt

16:43 A 01 Haider Hubert 53 + 61 = 114

B 02 Schaurhofer Johann 48 + 60 = 108

16:50 B 01 Enengl Andreas 48 + 46 = 94

A 02 Harucksteiner Thomas 54 + 40 = 94

B 01 Enengl Andreas 10 + 18 = 28

A 02 Harucksteiner Thomas 12 + 18 = 30

16:57 C 01 Rathgeb Helmut 48 + 46 = 94

D 02 Rameder Thomas 56 + 37 = 93

17:04 D 01 Temper Manfred 44 + 48 = 92

C 02 Hahn Manfred 54 + 59 = 113

17:25 V 01 Schaurhofer Johann 41 + 49 = 90

V 03 Rameder Thomas 49 + 46 = 95

17:32 V 02 Enengl Andreas 45 + 53 = 98

V 04 Temper Manfred 42 + 47 = 89

18:07 S 01 Haider Hubert 64 + 44 = 108

S 03 Rathgeb Helmut 59 + 56 = 115

18:14 S 02 Harucksteiner Thomas 55 + 54 = 109

S 04 Hahn Manfred 51 + 61 = 112

19:18 P 07 Schaurhofer Johann 49 + 52 = 101

P 08 Temper Manfred 44 + 45 = 89

19:32 P 05 Rameder Thomas 61 + 45 = 106

P 06 Enengl Andreas 32 + 47 = 79

19:53 P 03 Haider Hubert 51 + 50 = 101

P 04 Harucksteiner Thomas 46 + 51 = 97

20:39 P 01 Rathgeb Helmut 59 + 43 = 102

P 02 Hahn Manfred 63 + 58 = 121


